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Algebraic Vectors in R’ AP(.3D/ZOIX
The unitvectors § = (1,0, 0)

7 =(0,1,0)

k=(0,0,1)

are the standard basis vectors in R>.

Given the point P(a,b,c), the position vector is

OP = (a,b,c)

= a{+bf+cl_5

‘OT%’ = Va2 + b2 + 2

Apr 29-6:54 AM

Given the points A(x1, y1, 21) and B(xz2, y2, 22)

OB — OA

(72,2, 22) — (21,91, 21) )
(w2 — 21)i + (y2 — y1)j + (22 — 21)k
(2 — x1,¥2 — Y1, 22 — 21)

AB

|1ﬁ| = \/(372 — 171)2 + (yQ — y1)2 n (22 — Z1)2

Apr 29-7:00 AM
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Ex. If A(2,3,4) and B(-4,5,-6) are two points in R3,
determine each of the following:

(@) @‘ (b) 073’ © AB () ‘E‘

@ Of=(2,39)
57l = [z ez ey~
“\q+a+ib

= 2<7

G R=(ycp) |oR\-[Er
= ‘lL S +3¢
=

) B = OB -oR
:(_9)‘)@'(3.3@
= <—(=, 2,—!0)
@) lﬁa\z\\%l’y ¢ 7_1+ (—-(o\)?
={ 140

:_'Z\lg_g

Apr 24-1:32 PM

Assigned Work:

p.332 #1, 2, 3, 4, 5ac, 6bd,
8,10, (). 12, 2>

I Alo3,y) 8(2,-1,17)
¢(3,-3,15) (4, 1,2)

A I3

= (;'-l'r:‘.) _(0| g‘g\ :(‘glq-, ‘Q_\
= (3,4,12) --AB

R@:-ﬁb :Ea
~|Re\ =R ad B/ D
% do Samt for BC aed B

May 4-9:19 AM
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4 AczLz)  B(4-,2)

Pm X - GxIS

<'X)°/ 03 A.\B’: T K\". &
oN X-axi§, NP
y=o,2=0 '
et by Ao
|#e|=| &7l
G55 o
=(x0,0)~(2,1,3) =b4,1-9)
= (’X+Z)—(J—3)
| 7e) = | 87

G e 46 =Gy 4 (o 4
Koty 116 = ol +48

|2% = 7
X =

May 1-12:42 PM
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